N = 0l & AF & F Al A

2A: =
X zH: 20O
o Tt —/

=
6ol =220 S8 2L (AEAMNAZ=H

=S43H) (el &)
SN B SRA(SIH) - MBAY - BAS 0l & 24 p[E-Ll HRE2
=S X X& 3,128,786 3,016,275 112,511
= 364,891 364,891 0
= 48,111 48,111 0
Al 2,715,784 2,603,273 112,511
IO ZMESFH (A S/ I ZHEBE) 2,978,749 2,964,275 14,474
= 340,891 340,891 0
= 42,111 42,111 0
Al 2,595,747 2,581,273 14,474
=30 S I (LFEAMNAZSHIISSESA) 2,978,749 2,964,275 14,474
= 340,891 340,891 0
= 42,111 42,111 0
Al 2,595,747 2,581,273 14,474
ol 8l 39,474 25,000 14,474
801 ollHI bl 39,474 25,000 14,474
01 ol Bld 39,474 25,000 14,474
oollgldl Z & 39,474,000& » 14l 39,474 25,000 14,474
HY2AHUI (FUS XX D) (IIEHIIE 55,000 52,000 3,000
= 24,000 24,000 0
= 6,000 6,000 0
Al 25,000 22,000 3,000
CIA2HH(ZEANAZSSHIISSLESIA) 55,000 52,000 3,000
= 24,000 24,000 0
& 6,000 6,000 0
Al 25,000 22,000 3,000
ol2=0¢ elAddl XN& 55,000 52,000 3,000
= 24,000 24,000 0
L= 6,000 6,000 0
Al 25,000 22,000 3,000
101 21 24d| 55,000 52,000 3,000
= 24,000 24,000 0
= 6,000 6,000 0
Al 25,000 22,000 3,000
03 RIAHAZZAE S 55,000 52,000 3,000
O RIIAHSL 220 Atcll2tel Al erAdd| 25,000 22,000 3,000
=JlEZg 23 12,497,540% » 194 12,498 12,996 A 498
= 6,000 6,000 0
Al 6,498 6,996 A 498
oIlEt=Z(A4NHZ) ZF 8,235,0008 * 14 8,235 5,632 2,603
SIIEN=E(FF . HX)
Z & 740,030& * 14 741 1,083 A342
oAl 2 1,743,000 = 14 1,743 1,600 143
cAUEE AERTEZ
28 1,782,530 * 14 1,783 689 1,094
Hess(FUEXXM) (MIEX /I =HEEH) 95,037 0 95,087
BEXNE(ZEMNAZSHIIZELIAH) 95,037 0 95,087




SN FOSKXAD
E: YRS (FUSUNAM) (M= ZME2T)
©9l: BB (FSAAES0IISSEH) (25l &2
SH-EH . C(BH) - NRAY - BES Off &k 713 o bRz
IZMBRBIRE 2CHEXS pia 95,087 0 95,037
802 BH& 2| Et 95,037 0 95,087
NEREEETEE 54,917 0 54,917
OAZZ oA 54,917,0002! * 14! 54,917 0 54,917
02 Al - CHIEESEES 7,465 0 7,465
O 230i A 7,465,008 * 14! 7,465 0 7,465
03 h2H3S 32,655 0 32,655
OARIHAIY BRI 814 L Tag
32,655,0002 * 14 32,655 0 32,655




